Extra practice solutions

Problems 1-4 goal: correctly simplify to get rid of fractions

Strategy 1: distribute first

Strategy 2: distribute second
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5-8 steps:
e factor all of the denominators
e multiply all terms by the product of the factors in the denominators
e simplify each term
e multiply out products
e combine like terms

5.
X 3 5
2 =2 +
X +4x x"—4x x+4
X 3 5

xot+d) x(x—4) x+4
x(x+dE-4)  x :x(x+4)(x—4).( 3, sj
1 x(x+4) 1 x(x—4) x+4
AorBe-4)  x  AerhHod 3 x4 s
1 A () 1 A (x~) 1 oLt
(x—4)-x=(x+4)-3+x(x—4)-5

X' —4x=3x+12+(x* —4x)-5
x*—4x =3x+12+5x" —20x
—x’ +4x —x” +4x

0=4x>-13x+12

6.
X B 3 B x—4
(x+2)2x+1) (x+D(x+2) QCx+D)(x+1)
(x+2)2x+1)(x+1) X B 3 _ (e F2)Q2xH)(x ) | x—4
1 (x+2)2x+1) (x+1)(x+2) 1 Qx+1)(x+1)

MM()C+1). X _M(zm)w' 3 B (x+z)g;mjm. x—4
! (5+7) 2xT) [ (eAT) (247) 1 22Ty (x+T)
(x+Dx—2x+1)-3=(x+2)(x—4)
X +x—6x-3=x"—-4x+2x-8
x*=5x-3 =x*-2x-8
—xX*+5x+3 —x+5x+3
0=3x-5




x+1 x+3  x-1
X =25 ¥ -5x x +5x
x+1 x+3  x-1
(x—5)(x+5) x(x—5) x(x+5)
x(x=5)(x+5) x+1 x+3 | x(x-5)(x+5) x-1
1 '((x—S)(x+5)_x(x—5)j_ 1 x(x+5)

X35 345 xtl A+ x43 A5  x-l
1 (2<5) (x5) 1 A (x=5) 1 A (x+5)
x(x+1)—(x+5)(x+3)=(x-5)(x-1)

X +x— (x> +3x+5x+15)=x" —x—5x+5

X 4+x—x*-8x—-15=x>—-6x+5
—Ix-15=x*-6x+5

+7x 415 +7x+15

0=x>+x+20
8.

x-4  x-=2 B 5
X +5x+6 X +4x+3 X7 +3x+2
x—4 x—2 5
(x1+2)(x+3) (x+3)x+]) (x+2)(x+1)
G+ +3)E+D)  x-4 _(x+2)(x+3)(x+1)( x-2 5 )
1 (x+2)(x+3) 1 (x+3)(x+1) (x+2)(x+1)
(or2) (o3) () x—4 _ (x42) (o) (o1 x=2 D) (643) (o) 5
! (o+7) (243) ! (+3) (x4T) ! (+7) (o)
(x+1)(x—4) = (x=2)(x+3)—(x+3)-5
X —4x+x-4=x"+3x-2x-6—-(5x+15)
x2=3x-4=x"+x-6-5x-15

x*—3x—4=x"-4x-9
X" +4x+9 —x"+4x+9

x+5=0



